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Computation of Zeta Potential

V0
<latexit sha1_base64="mzcFDRj8Bele5gzYB7dhFbhvZdw=">AAAB6nicbVBNS8NAEJ3Ur1q/qh69LBbBU0mqoMeiF48V7Qe0oWy2m3bpZhN2J0IJ/QlePCji1V/kzX/jts1BWx8MPN6bYWZekEhh0HW/ncLa+sbmVnG7tLO7t39QPjxqmTjVjDdZLGPdCajhUijeRIGSdxLNaRRI3g7GtzO//cS1EbF6xEnC/YgOlQgFo2ilh1bf7ZcrbtWdg6wSLycVyNHol796g5ilEVfIJDWm67kJ+hnVKJjk01IvNTyhbEyHvGupohE3fjY/dUrOrDIgYaxtKSRz9fdERiNjJlFgOyOKI7PszcT/vG6K4bWfCZWkyBVbLApTSTAms7/JQGjOUE4soUwLeythI6opQ5tOyYbgLb+8Slq1qndRrd1fVuo3eRxFOIFTOAcPrqAOd9CAJjAYwjO8wpsjnRfn3flYtBacfOYY/sD5/AHXn42B</latexit>

V
<latexit sha1_base64="ZHTJuVrsXJ8Nz2mGcO2drL0vXec=">AAAB6HicbVBNS8NAEJ3Ur1q/qh69LBbBU0mqoMeiF48t2FpoQ9lsJ+3azSbsboQS+gu8eFDEqz/Jm//GbZuDtj4YeLw3w8y8IBFcG9f9dgpr6xubW8Xt0s7u3v5B+fCoreNUMWyxWMSqE1CNgktsGW4EdhKFNAoEPgTj25n/8IRK81jem0mCfkSHkoecUWOlZrtfrrhVdw6ySrycVCBHo1/+6g1ilkYoDRNU667nJsbPqDKcCZyWeqnGhLIxHWLXUkkj1H42P3RKzqwyIGGsbElD5urviYxGWk+iwHZG1Iz0sjcT//O6qQmv/YzLJDUo2WJRmApiYjL7mgy4QmbExBLKFLe3EjaiijJjsynZELzll1dJu1b1Lqq15mWlfpPHUYQTOIVz8OAK6nAHDWgBA4RneIU359F5cd6dj0VrwclnjuEPnM8fs/+M3g==</latexit>

Rch
<latexit sha1_base64="Xzwlit76JtZj8PH11iuL5PoL68w=">AAAB7XicbVDLSgNBEOz1GeMr6tHLYBA8hd0o6DHoxWMU84BkCbOT2WTMPJaZWSEs+QcvHhTx6v9482+cJHvQxIKGoqqb7q4o4cxY3//2VlbX1jc2C1vF7Z3dvf3SwWHTqFQT2iCKK92OsKGcSdqwzHLaTjTFIuK0FY1upn7riWrDlHyw44SGAg8kixnB1knN+15GhpNeqexX/BnQMglyUoYc9V7pq9tXJBVUWsKxMZ3AT2yYYW0Z4XRS7KaGJpiM8IB2HJVYUBNms2sn6NQpfRQr7UpaNFN/T2RYGDMWkesU2A7NojcV//M6qY2vwozJJLVUkvmiOOXIKjR9HfWZpsTysSOYaOZuRWSINSbWBVR0IQSLLy+TZrUSnFeqdxfl2nUeRwGO4QTOIIBLqMEt1KEBBB7hGV7hzVPei/fufcxbV7x85gj+wPv8Aafwjy4=</latexit>

R
<latexit sha1_base64="cVRUNBy/RTcU6LUbsjbBwonoaeo=">AAAB6HicbVDLTgJBEOzFF+IL9ehlIjHxRHbRRI9ELx7ByCOBDZkdemFkdnYzM2tCCF/gxYPGePWTvPk3DrAHBSvppFLVne6uIBFcG9f9dnJr6xubW/ntws7u3v5B8fCoqeNUMWywWMSqHVCNgktsGG4EthOFNAoEtoLR7cxvPaHSPJYPZpygH9GB5CFn1Fipft8rltyyOwdZJV5GSpCh1it+dfsxSyOUhgmqdcdzE+NPqDKcCZwWuqnGhLIRHWDHUkkj1P5kfuiUnFmlT8JY2ZKGzNXfExMaaT2OAtsZUTPUy95M/M/rpCa89idcJqlByRaLwlQQE5PZ16TPFTIjxpZQpri9lbAhVZQZm03BhuAtv7xKmpWyd1Gu1C9L1ZssjjycwCmcgwdXUIU7qEEDGCA8wyu8OY/Oi/PufCxac042cwx/4Hz+AK3vjNo=</latexit>
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R

R+Rch
V0

<latexit sha1_base64="ZfeJLuoxnsqnrDTE4i1/kpPvico=">AAACAnicbVBNS8NAEJ3Ur1q/op7Ey2IRBKEkVdCLUPTisRabFtoSNttNu3Tzwe5GKCF48a948aCIV3+FN/+N2zYHbX0w8Hhvhpl5XsyZVJb1bRSWlldW14rrpY3Nre0dc3fPkVEiCG2SiEei7WFJOQtpUzHFaTsWFAcepy1vdDPxWw9USBaF92oc016AByHzGcFKS6554KAr1PUFJmkjSxunDTclwyxzXMs1y1bFmgItEjsnZchRd82vbj8iSUBDRTiWsmNbseqlWChGOM1K3UTSGJMRHtCOpiEOqOyl0xcydKyVPvIjoStUaKr+nkhxIOU48HRngNVQznsT8T+vkyj/speyME4UDclskZ9wpCI0yQP1maBE8bEmmAimb0VkiHUeSqdW0iHY8y8vEqdasc8q1bvzcu06j6MIh3AEJ2DDBdTgFurQBAKP8Ayv8GY8GS/Gu/Exay0Y+cw+/IHx+QMAcpaM</latexit>

Voltage divider
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V0 (V)
<latexit sha1_base64="6Ro6XzWyyQr3vi3gOaGDkBsXyXM=">AAAB+HicbVBNS8NAEN3Ur1o/GvXoZbEI9VKSKuix6MVjBZsWmhA22027dPPB7kSsob/EiwdFvPpTvPlv3LY5aOuDgcd7M8zMC1LBFVjWt1FaW9/Y3CpvV3Z29/ar5sGho5JMUtahiUhkLyCKCR6zDnAQrJdKRqJAsG4wvpn53QcmFU/ie5ikzIvIMOYhpwS05JtVx7dcXHeBPULuTM98s2Y1rDnwKrELUkMF2r755Q4SmkUsBiqIUn3bSsHLiQROBZtW3EyxlNAxGbK+pjGJmPLy+eFTfKqVAQ4TqSsGPFd/T+QkUmoSBbozIjBSy95M/M/rZxBeeTmP0wxYTBeLwkxgSPAsBTzgklEQE00IlVzfiumISEJBZ1XRIdjLL68Sp9mwzxvNu4ta67qIo4yO0QmqIxtdoha6RW3UQRRl6Bm9ojfjyXgx3o2PRWvJKGaO0B8Ynz+Ws5Jm</latexit>

V
(V

)
<latexit sha1_base64="hu7C+xBEifuBVUSkX7VqJUa3Jo8=">AAAB9HicbVBNT8JAEN3iF+IX6tHLRmKCF9KiiR6JXjxiIoWENmS7bGHDdlt3p0TS8Du8eNAYr/4Yb/4bF+hBwZdM8vLeTGbmBYngGmz72yqsrW9sbhW3Szu7e/sH5cMjV8epoqxFYxGrTkA0E1yyFnAQrJMoRqJAsHYwup357TFTmsfyASYJ8yMykDzklICRfNfDVQ/YE2Tu9LxXrtg1ew68SpycVFCOZq/85fVjmkZMAhVE665jJ+BnRAGngk1LXqpZQuiIDFjXUEkipv1sfvQUnxmlj8NYmZKA5+rviYxEWk+iwHRGBIZ62ZuJ/3ndFMJrP+MySYFJulgUpgJDjGcJ4D5XjIKYGEKo4uZWTIdEEQomp5IJwVl+eZW49ZpzUavfX1YaN3kcRXSCTlEVOegKNdAdaqIWougRPaNX9GaNrRfr3fpYtBasfOYY/YH1+QP0a5GS</latexit>

s
<latexit sha1_base64="8r6dWOvdyfgmPOHEanDSQrmgcis=">AAAB6HicbVBNS8NAEJ3Ur1q/qh69LBbBU0mqoMeiF48t2FpoQ9lsJ+3azSbsboQS+gu8eFDEqz/Jm//GbZuDtj4YeLw3w8y8IBFcG9f9dgpr6xubW8Xt0s7u3v5B+fCoreNUMWyxWMSqE1CNgktsGW4EdhKFNAoEPgTj25n/8IRK81jem0mCfkSHkoecUWOlpu6XK27VnYOsEi8nFcjR6Je/eoOYpRFKwwTVuuu5ifEzqgxnAqelXqoxoWxMh9i1VNIItZ/ND52SM6sMSBgrW9KQufp7IqOR1pMosJ0RNSO97M3E/7xuasJrP+MySQ1KtlgUpoKYmMy+JgOukBkxsYQyxe2thI2ooszYbEo2BG/55VXSrlW9i2qteVmp3+RxFOEETuEcPLiCOtxBA1rAAOEZXuHNeXRenHfnY9FacPKZY/gD5/MH3/OM+w==</latexit>
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<latexit sha1_base64="szXqJ7YOWpaj87dYRsw0VfxntRw=">AAACD3icbVDLSsNAFJ3UV62vqEs3g0VxY0mqoBuh6MZlLfYBTQiT6aQdOnk4MymUIX/gxl9x40IRt27d+TdO2yy09cCFwzn3cu89fsKokJb1bRSWlldW14rrpY3Nre0dc3evJeKUY9LEMYt5x0eCMBqRpqSSkU7CCQp9Rtr+8Gbit0eECxpH93KcEDdE/YgGFCOpJc88dgKOsGp4Cg+yTDWyq5lgn4pMicwhDykdQe6ZZatiTQEXiZ2TMshR98wvpxfjNCSRxAwJ0bWtRLoKcUkxI1nJSQVJEB6iPulqGqGQCFdN/8ngkVZ6MIi5rkjCqfp7QqFQiHHo684QyYGY9ybif143lcGlq2iUpJJEeLYoSBmUMZyEA3uUEyzZWBOEOdW3QjxAOg+pIyzpEOz5lxdJq1qxzyrVu/Ny7TqPowgOwCE4ATa4ADVwC+qgCTB4BM/gFbwZT8aL8W58zFoLRj6zD/7A+PwBJiqdWg==</latexit>

Same experimental 
configuration but only with one 
conductivity (σ1 = 5.25 mS/m)
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<latexit sha1_base64="tfTznCbImvSTphdv7lyyRW18FWQ=">AAAB9HicbVDLTgJBEJzFF+IL9ehlIjHBC9k1RD0SvXjERB4JuyGzQwMTZh/O9BLJhu/w4kFjvPox3vwbB9iDgpV0UqnqTneXH0uh0ba/rdza+sbmVn67sLO7t39QPDxq6ihRHBo8kpFq+0yDFCE0UKCEdqyABb6Elj+6nfmtMSgtovABJzF4ARuEoi84QyN56FIX4QnTsj6fdoslu2LPQVeJk5ESyVDvFr/cXsSTAELkkmndcewYvZQpFFzCtOAmGmLGR2wAHUNDFoD20vnRU3pmlB7tR8pUiHSu/p5IWaD1JPBNZ8BwqJe9mfif10mwf+2lIowThJAvFvUTSTGiswRoTyjgKCeGMK6EuZXyIVOMo8mpYEJwll9eJc2LinNZqd5XS7WbLI48OSGnpEwcckVq5I7USYNw8kieySt5s8bWi/VufSxac1Y2c0z+wPr8AVKAkdI=</latexit>

t (s)

<latexit sha1_base64="dkApSlZmHpjUqQ0eHbwzAQFq3SM=">AAACDnicbVA9SwNBEN3zM8avqKXNYgjEJtxJUMugFpZRzAfkQtjbbJIle7vH7pwYjvwCG/+KjYUittZ2/hs3yRWa+GDg8d4MM/OCSHADrvvtLC2vrK6tZzaym1vbO7u5vf26UbGmrEaVULoZEMMEl6wGHARrRpqRMBCsEQwvJ37jnmnDlbyDUcTaIelL3uOUgJU6uYIP7AGSuhJA+gxfaRVhLvH41sczpxjWj8edXN4tuVPgReKlJI9SVDu5L7+raBwyCVQQY1qeG0E7IRo4FWyc9WPDIkKHdmfLUklCZtrJ9J0xLlili3tK25KAp+rviYSExozCwHaGBAZm3puI/3mtGHrn7YTLKAYm6WxRLxYYFJ5kg7tcMwpiZAmhmttbMR0QTSjYBLM2BG/+5UVSPyl5p6XyTTlfuUjjyKBDdISKyENnqIKuURXVEEWP6Bm9ojfnyXlx3p2PWeuSk84coD9wPn8ApNSb2A==</latexit>

V
ol
ta
ge

D
ro
p
in

R
(m

V
)

A

B

C


